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General Instructions :

1. The question paper consists of 2 sections - Section A (having 27 questions) and Section B
(having 12 questions). You are to attempt all the questions.

All questions are compulsory.

There is no overall choice. However, internal choices have been provided in three questions
of 2/3 marks category and all the six questions of five marks each.

All questions of Section A and Section B are to be attempted separately.

Questions 1 to 4 in Section A, and Questions 28 and 29 in Section B, are multiple choice type
questions and carry 1 mark each.

Questions 5 to 10 in Section A, and Questions 30 to 32 in Section B, are very short answer
type questions and carry 1 mark each.

Questions 11-16 in Section A and Questions 33 to 35 are short answer type questions and
carry 2 marks each.

Questions 17 to 23 in Section A, and Questions 36 and 37 in Section B, are also short answer
type questions and carry 3 marks each.

9. Question 24 to 27 in Section A, and Question 38 and 39 in Section B, are long answer type

questions and carry 5 marks each.
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SECTION - A (@3-37)

1.  Which of the following acts as a better lubricant for the moving parts of

a machine?

(@) Water (b)  Chalk powder

(c) purified air (d) drysoil

frfetfea o s @ otg 7=l & o g 9 & ford Tk o' Ted €2
(a) 9 (b) = TR

(c) TS = (d) geit et

2. Inavoltaic cell, the electrods are dipped in

(@) citric acid (b)  Vinigar

(c) dilute Sulphuric acid (d) ammonium hydroxide.
TF didfed 9 w1 B o faoem § ot gt €2

(a) o s (b) faww

(c) &flvT FerIfieh 3T (d) SHIFEH TRSES

3. The concentration of greenhouse gases, in the atmosphere, increases
due to
(@) burning of fossil fuel
(b) generation of electricity from hydroelectric power plants.
(c) afforestation
(d) use of solar cooker
agHTSA W UeT-sX TGl i AT S ol RO © -
(a) Sfared goq 1 S S
(b) TESEANRS® dlea) wic g fagd IR_A
(c) IR
(d) | (WierR) HH B &

4.  Hydropower is an example of of a/an

(@) inexhaustible natural resource (b) exhaustible natural resource
(c) Fossil fuel (d) man-made source of energy
ST ¥ I BF Al S, Frefafed § 9 g Sae @2

(a) 318 Urhfde qdrEA (b) THTE B ATl WTehide e
(c) SitemeHt o (d) wra fafda s dered
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5. A ball, rolled with a given speed, is observed to travel a smaller distance

on a rough road as comapred to a smooth surface. Why? 1

TH & T ¥ FEPhi T Th 715 fhdt TR A R Tk Faeret Fag i o
H 1 g 90 w712

6.  Define electro magnetic induction. 1

“forga graehta 9RO’ @1 IRWTE it

7. Suggest a way by which fluid friction can be reduced. 1
TS FUUT I HH HA Hi hls Th A G|

8. Name any two types of coal. 1

el i fohel & T & M fefed

9. Name the two components which combine to form carboxy
haemoglobin. 1
st fErrefen fha < aref grr s @2

10. Write one harmful effect of smog. 1
‘M’ w1 T gHE fafed|

11. (a) When are forces called unbalanced?
(b) How do two unbalanced forces combine when they act on an object in
(i) the same direction?
(ii) opposite directions 2
(a) il =l Sferd el W1 ST €2
(b) et a8 | @ ® I sEdfaa o
(i) T & fen § 8F W (i) foudia feems & 89 =

L A o
Stchl Hqad HHld ond [Henlcdl sildl %7

12. A given object is to be moved from a point 'A' to another point 'B' on a given

surface by

(i) sliding (ii) rolling

In which case would it be easier to move the object and why? 2
el g W T a5 &l fo5 ‘A’ 9 fag ‘B’ @&

(i) TqeEhl L (ii) ¥R B

& S

forg frorfa & ong &1 o 1 i TR @2 SR Hi?
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13.

14.

15.

16.

(a)
(b)

(a)
(b)
(a)

(b)

(@)
(b)

Name the scale used to measure the intensity of an earth quake.
State the likely magnitude, on this scale, of an earthquake that
(i) 1is generally not felt but gets recorded on a seismometer

(ii) can be a major destructive quake.

THTT HT WHT F URE H R GHH W e R S e

T TR W gwE 1 v F 9 e fha e afg

(i) ST H FEgd 7 & W ITR 96 dEEHR | Afed @l
S|

(ii) =% Wk AR e e 2l

Name the process in which coal is strongly heated in absense of air.

Name any there products formed in the above process.

3 fopan 1 W Sz fSEH et i el % A | ercAtien T feha
ST 2

79 fohe 9 S g1 ol forgl A Sl & AW aarsd|

Give reason for the following :

Candle flame is put off when it is covered with a glass tumbler.

White phosphrus can catch fire spontaneously on a hot summer day.

frafafed & SR JaqEy .

(a)
(b)

()
(b)
(a)
(b)

(a)
(b)
(a)

el g0 @ WM W Serd! g8 HiHedl i serel g9 Sl 2|
e mq W e aIHH B W %S BIThRE Wd: ol Sl B

Define : Global Warming.

State its two consequences.

fovg oM = gfRafug it
IT& HIE S YAE FdE|

OR (491)

How is marble cancer caused?

Name any two pollutants which, on contact with rain, make it acidic.

. 2
e O Y 2l &2

(b) S T YSUH! I A FarEd S o6 I AT T L
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17. Rohit had gone to a remote vilage as a part of his project to observe the life of
the persons living there. The villagers would bring water from a nearby well in
their buckets. Rohit observed that some of the persons had buckets with some
holes from which a good deal of water would leak out. He used the adhesive
paste, that he had with him, to cover those holes. He made sure that he covered
the holes near the bottom first. The villagers were very happy when they
found that they could now bring back buckets that were full of water. Rohit
helped them solve some of their other problems as well.

(i) State two values displayed by Rohit.
(ii) State the property of liquid pressure that Rohit used while covering the holes
near the bottom first.

(iii) State one more property of liquid pressure.

Ufed g el H @ a1t AN o SHaarad bl 3TEqd hid & fod Tk Ma |

TN A % @ e % R ¥ AT ST & o S affcedl ¥ W @M

| Ufea 7 3@ fr ek ol i aifeedl § |9 9 9 S99 FHI®T 9 o S

o1l I A WY A IR U R 37 V]l b AN SUA I A @

for 9% Ugd difcedl & qal & U o Sal ol T3] a9 Goh| Td % AN 316

T W e aifcedl H UM @1 UM i osie ¥ 9gd G99 Afed 7 WA & A

F HD IR qHEST F v HH H o IR Hewdr i

(i) Ufed g <@l T Y faged |

(ii) A Tq@ & 3T 0T & IR | Jared oas & § W Ufed 7 ey
Ted & TR arel B] F g

(iii) TR <A1l hT I AR T foeoar saEd

18. Draw a neat diagram of a continuity tests.

(@)

(b) State its function.

(c) How can distilled water be made conductive.
(a

) fRawar Si=es &1 o9 991

(b) Ikl IYAM ddrsdl

(c) eHfad So1 ! fagd =reieh &9 oM@ ST Hehel B
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19.

20.

21.

22.

Alternative question for visually challenged students in lieu of Q. No. 18
gfte gwifaa faenfofai & faw w. 18 @1 Serfcues wo=
(@) What is a continuity tester?

(b) Name one conducting and one non-conducting liquid.

(a) Faar siwes ford #gd B
(b) T I Th-Teh SRV 3 : R g1l o1 fogd =t 8, Tt w5 S
fog = el 2

(@) Define the term 'electroplating'.
(b) State any two conditions that help in getting a Smooth and firm deposit

during electroplating.

(a) faga o &1 aRwifia it
(b) 318 Tagaeds & o omavas ®iE 3 Tgha IRfEafd FaEd|

(@) What is the other name of tectonic plates?
(b) Define epicenter.

(c) How are seismic waves produced?

(a) ‘SRR @i’ 1 TEU AW F 22
(b) ‘stferh=" st aRwa |

(c) T q@f +9 3 et 22

Distinguish between (i) strong and (ii) weak electrolytes. Give one example

of each.

(i) 9aa qa (ii) Toh SolaRaEd H ST WO hifed| Ydd & TH-TH

3T A1 S|

(@) Whatdo we understand by the term 'exploxive combustion'? Give one example
such a combustion.

(b) How is fire, caused by oil or gas, entinguished?

(a) ‘foepiesh <@’ &1 e T HI| 36 THR & T8 6 ThH IR
<ifsr|

(b) ot el TG W T AN H HY AT WAl 22
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23.

24,

(a)
(b)

(a)
(b)

OR (34491)

Define calorific value of a fuel.

If calorific value of a fuel is 10,000 kj/kg, how much of this fuel is required
to produce 25,000 kj of energy?

SO A g e

Ifg et S o1 ST A 10000 ki/kg €, @ 25000 kj HOAT S HE
% fau 38 geM 1 fohafl AEn &1 staeged g

Suggest any three methods to control air pollution caused by burning of

fossil fuels.
Steredt derl & Sfer W e dret YgUU i fEGE % #E A U
ERlE

(@)

(b)

(a)

(b)

Differentiate between contact and non-contact forces. Give two example
of each.

State the variation in atmospheric pressure with

(i) altitude (ii) temperature

s § Td 3TWMeh o H AR TR HifSd| Yd® & [U-T
SR |

AU e <hi

(i) == (ii) qrIgm
R A saEd)
OR (37er@)

What should be the direction of applied force on a body so that the :

(i) Speed of body increases

(ii) Speed of body decreases.

(iii) speed, as well as the direction of motion, of the body changes.

Why do we normally not feel the large atmospheric pressure, acting on us,

all the time?
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(c)  Why do nails and pins have pointed ends?
(a) & I fazm =R gHl =ey fSed
(i) =ert g3 %] i T 9 SY
(ii) <rordl g8 o st TIfa e g S
(iii ) =%g =T T To T M o] SU)
(b) BH AU I AR o © foenel argHec™ gare &1 9vre 7ggd =1
T2 Bra?
(c) iel qen fAl & f Jowre 3 8 872

25. (a) Give reasons.

(i) Ball-bearings are used in machines
(ii) tyres of vehicles need to be changed after a sufficient time.
(iii) machine parts are frequently oiled or greased.

(b) 'friction is a necessary evil'. Justify

(a) RO S@Tq
(i) W o sta-aafn seme 6 9 €
(ii) TfEa & 2RI Yo« S99 q9erd "<e gSd &
(i) 7ol & o srean W STl S 2l

(b) ‘wdu-giferRer Ry Afard @' 59 wer 1 gfie wifsd|

OR (HYdN)
(@) What is the basic cause of friction?
(b) State two factors on which force of friction depends.
(c) Complete the diagram.

» Direction of motion

’?4
(d) Definé 'limiting force of friction.
(a) =01 1 & HRO 1 €2
(b) =¥ ki gaTfad Y ol & Heh Fdd|

(¢) Y@= &l @ &

> Tfq T AR
?
(d) oYU I ki SUG HHT i gROMET i
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Alternative question for visually challenged students in lieu of Q. No. 25(c)
gfte gunfaa faenfofat & fom w. 25 (o) @1 denfeus woa
() How is the direction of the force of friction related to the direction of

relative motion between two objects?
(¢) ‘=ur 9&’ i fewm 1 aXgsT & WE i A I fIm § wn gwry
= 2

26. (a) Why is crude oil known as rock oil?
(b) With the help of diagram show occurence of petroleum.

(c) Fill in the missing words so that process of drilling of oil wells is explained.

The (i) of petroleum is located & mapped with the help of
(if) , a hole is drilled in earth's crust. When this hole reaches the
(iif) , the (iv) gas causes out first with great pressure
followed by (v) .

(a) F=d 9 & ‘U o=d’ F Fed 27
(b) fa9 & g Yoifeem &1 "veR feand
(c) T ol 1 qfd =% aifeh 9 & HT ° I Tehrem &1 gome gt =1

Teh| I & S EIST A A AR ALl HER
Y A ¥ 9% foran e 21 S &l T B TE
9 qeel STEd 3Tl @ 3R SHeh <are 9 e 3 B

Alternative question for visually challenged students in lieu of Q. No. 26(b)
gfte gwrfaa faenfofai & faw w. 26 (b) 1 dewfcusw w9
(b) Write short note on occurance of petroleum?

(b) USifeaq & 9UeR R Gy § fafed|
OR (19rd1)
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(@) Name the petroleum product used for making.
(i) Vaseline
(ii) roads and coating the underside of electric poles
(b) State one use of each
(i) Diesel oil
(ii) highly refined petrol
(c) Write the names of any two places in India where gas fields are located.
(d) Natural gas is called a cleaner fuel. State any two reasons in support of this

statement.

(a) 39 Y™ Heesh! o1 A oard s
(i) orEef oM
(ii) FEh o faoiell & @i & r<E fe W o & &M o7 2l
(b) TF HT Th ITANT AT
(i) o
(i) 0 == U2«
(¢) wRa H feord forel < STl & 919 waid S8l Yihiaeh 719 % 9USR 9T
Sl
(d) ‘wrehfder 19 &1 T =3 $F el Sl ¢ 39 HU % Goadl & g <
T S|

27. (a) With the help of an activity explain that wax vapours are present in the
inner most zone of candle flame.
(b) Name the zoner of flame which
(i) contains unburnt carbon particles.
(ii) 1is hottest
(iii) is least hot
(

iv) is a zone of complete combustion
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(a) T foran R wH=d foF 99 <1 99 SoTell & Hed 3T ol 9N § 9
EIGIRS

(b) ATl & IH 9N & M «dd

(i) T5adg fomr siet seie %0 9w S| 7
(i) S T=g sAfe T 2

(iii) < o %7 T 2

(iv) e of <= &1 i R

OR (3A¥d)

(@) Write any four characteristics of an ideal fuel.

(b) Gaseous fuels are considered the best give any two reasons to justify this.

(c) Increased fuel consumption has led to harmful effects on the environment.
State any one such harmful effect.

(a) 1 E59 1§ =R fafkmedd aq=y)

(b) &g e Haiqq |1 SIaT & - foheel |1 ROl o ®Y TR Hifeu|

(¢) SeMi o1 1faeh SUAN qHieRul & folu B ehRer B SHT his Tk BIFHNH
ERIERCRIEY

SECTION - B (@3-9)

28.  Which of the following cell is fibre like?

(@) liver cell (b) fatcell

(©) nerve cell (d) Amoeba
frefeied o 9 F & ifden ol T smerted sid 87
(a) AT I (b) =1 hHIFTRI
(c) dfreRt HIfeTeR (d) uHrEn
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29.  Which of the following is not a biosphere reserve?

(@) Gulf of Mannar (b) Bandipur
(c) Sunderbans (d) Nanda Devi
frefafad & 9 ®F W &7 Somved sRfad & T&f 72
(a) T 3% TR (b) WY

(¢) g=wd (d) =1 <ot

30. Define a tissue

“fog1’ / 3T I AR A

31. Name any two antibiotics.

gl < Wardidieeh hl -TH ddIsd|

32. How do long-distance flying birds migrate?

JaTEt Tt R & qh ol A A §2

33. Why are viruses considered at the borderline between living and non-living
things?

famoy (emerd; 1 Sifad oo ersfifaa SHl /M ST 21 S?

34. (a) Whatdo you understand by the term 'toxins'?
(b) Name two diseases spread by physical contact.
(a) ‘feea’ &1 @ aerd €2
(b) T T I & AW Fdqed S SHR & g H o W @ W

OR (YD)

Why was Irish famine caused?

APele | TGO/ H1 F HROT 12

35. Differentiate between National Park and a Wild Life Sanctuary.

TSI ITUM qAT T=AI0N 3TRROT H 3T T
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36. (a) Draw a neat and labelled diagram of plant cell and label the parts
responsible for :
i) providing skeletal framework.

ii) controlling all activities of cell

iv) (power house) respiration

(
(
(iii) photosynthesis
(
(v) (store house) storage
(

vi) giving rigid shape and support to cell.

Tk WY HI FHITR w1 Fom seR fre o feend

(i) HIfSTRT i Tholed WA Y HLl 2
(ii) IR & 9t At ol s At =R
(iii) fS=d gerTe1 HyeAwor &

(iv) dfeR B39 Tealdl &

(v) VR B=3Y heddl 2

(vi) HIfYTRT & aed \E a2t ©

For visually challanged students

ofiz wenfaa fenfde & fou Swfoas wwa
Name the cell organelles responsible for :

i)  providing skeletal framework.

ii) controlling all activities of cell

iii) photosynthesis

iv) respiration

v) storage

(
(
(
(
(
(

vi) giving rigid shape and support to cell.
FHITHT & 3T AW & AH Fad s

(i) HIfSTeRT i Ufleg L 2| Tholed BHIP UM H T
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(ii) HIfFTRT & G wrt s Faf=Ea w
(iii) FSEH YerteT 93eiuor B

(iv) dfeR B39 Headl ©

(v) ¥R BR¥H heddl 2

(vi) FITH & a_d A wd Bt @

37. (a) Name two cell stuctures present in plant cell but absent in animal cell.
(b) State two functions of cilia.

(c) Why are chromosomes important?

(a) WY HT FHIGRT b TH S A0 F1 99 Fdq2H S THAG B IR o
RIS G

(b) ‘wifern’ & < wE wdEY

(c) HIEMEM TEvTH: i 22

38. (a) How isfood poisoning caused?
State its four important symptoms.
(c) Name its causative agents.

(d) Suggest two ways to prevent it.

(a) @ ooy &9 g 82
(b) 3IFH IR TH@ A |

(¢) 39F T FR& Farzd|

(d) 399 9941 & T SUH FqEd|

OR (3¥4d1)

(@) What do you understand by food preservation?
(b) State three benefits of preserving food by drying process.

(c) Name any two chemical food preservatives.
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(a) @TF GRG0 § 379 T GHd o7
(b) @ 919l ! et IR wE & d1 arv |
(¢) < WA @ gfersn & 9m fafed)

39. (a) What are endemic species?
(b) Explain any two main causes of their extinction.

(c)  When do we call a species endangered? Give one example of such species.

(a) Toeiw & goifa ford hed 27
(b) 3T T« 8F & T HRU THAET
(c) B9 hd U WSl ol ‘Heherd= i Hed 81 Th ST i)

OR (3441)

(@) Write full form of I[UCN.

(b) What type of information is stored in Red Data Book?

(c) Why is reforestation done? What care should be taken while doing it?

(d) What do you understand by scrap paper?

(a) TUCN I 19 wargd|

(b) ¥ o1 9% ¥ fohd W@ +1 THHN Bt 22

(c) TAARI9ur I fohan S 82 38 i 9 ford @l 1 e T =)
(d) ‘&7 TR’ H T T T
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